


YA X | 1IN IAH | #3 HYAX | ANV IAR | #H2 14X 1Ny 7 A$
600X900| 25% AV | 200% 450x 600 5081 400%¢ 425X 600 200#%

A2

mm &
0.05tx1000x%x 1200 100# X
- -DDSHIEUQI-HLSIMUIWM 8710

BEUAN AT
MELEMT h—3— B6000DSR é/-\

PANA N

6000DDSR/2091-RL3 1
NO.2091H 7 1 )V & — 21

- |
—
=
=
=

534

FEE
ZNR\Y

BUAN AT 8710

%% DS-1 3M
NO.1705 58 508
NO.1750 508
EREESER

BEIAHK
NO.8710| 108

131



| BLAX#HZ NO.1270

d—JILi

h—3—

YA X HREE | AH
NO.1270 #)58g 1

ABS&HERILLANIEE

™
S 4
. B

143 —Ab
SERIRVG D,
#HB - OJANIMIEDE Y,

BLABRAVKILT—

AL Xy SNEXTA

L YA X BAEA A
NO.73-0K IVRA 1
NO.73-T I JHH 1
NO.73-S I JVEHR 1

| BLAX#% NO.1290

d—JILi

-

.‘) .

h—3—

REDBLWVWDIA R

RS NREE | A K
NO.1290 #1808 1

ABS&RFHERILLNIEE

SA4F—ADb
SRRV GDD,
#H-OJANMIADET,

YR RIS —

AU Xy NETA

Y1 X BASERT | A
NO.74-T IVRHE 1
NO.74-S IVEHR 1

| BLAX#HZ NO.1370C

AXBROENSHNIZDIENTED

Y4 X HmEE | AR

NO.1370C 1

Y—)LRUYXPC

o

HEEIRL®D D,
#%Z-OJANMNMIADET,

| AlLXy bIt—

sEME

132




133

1= 10RA

25.0

26.0

26.5

27.0

28.0

1R 6EA

Z2dLRH

M [24.0~245
L |25.0~25.5
LL ]126.0~26.5
3L |27.0~28.0

JL

KN-12

JLR#

24.5

25.0

25.5

26.0

27.0

28.0

29.0




Vv

BOVETFR

oy

BERE AIREFE

??'Eﬁh
i ¥

GEENEIESS
SU—I—LAFE

ALAFR

IROIEHEREFR

M - R FR

IROIEHFR

BB F

PR F LR

MIRIF L&

| PEAYRLAYZ—Y

LIFHEX Y aft

Y14 & K| BE

JIAB

M [160~170| 84~02 | 72~80
L [170~180] 90~98 | 78~88
LL [175~185| 96~104 | 86~96
3L [175~185] 102~110 | 94~104
B R E—
BLTLUIT VBB

ZRUIDLFE

KATLFR

BRFR

5

2FR

o [

EZ-IVFER

BAHN—FE

'E:j
¥y

TEE A VF—F

sEME

134



135

NFH

m & | AEXE#A(mm)

m & | AEXE#A(mm)

(REFa—7 zP-R Risttacd

JUIvF F—F

Micm) | BEXRE | BEAN) | A%k

NP-13 18X10
NP-16 22x10
NP-20 26x10
NP-20A 28x10
NP-25 32x10
NP-25A 35x10
NP-30 38x10
NP-35 43x10
NP-40 49x10
NP-50 61Xx10

ZP-10R 16X10 50 [1tX10m| 329 24
ZP-13R 18X10 75 [1tX10m| 430 18
ZP-16R 22x10 95 |[1tX10m| 480 12
ZP-20R 26x10
ZP-20AR 28x10
ZP-25R 32x10
ZP-25AR 35%10
ZP-30R 38x10
ZP-32R 43x10
ZP-40R 49x10
ZP-50R 61x10

Y1 X AEZ A B
25 605x910 | 164
50 605X910 81

KRR B

LS AEZ A #
25 605%x1820 | 4%

50 605x1820 | 2#




5X7 200 1%
5x8 200 1%
5x9 200 1%
6X8 200 1%
6X%X9 200 1%
6%X10 100 1%
7%X9 200 1%
7%10 100 1%
7% 11 100 1%
8%x10 100 1%
8%x11 100 1%
8x12 100 1%
9x11 100 1%
9%x12 100 1%
9%x13 100 1%
10%x12 100 1%
10%x13 100 1%
10%x14 50 1%
12X14 50 1%
12%x15 50 1%
12%X16 50 1%
15%17 50 1%
15X18 50 1%
15%x19 50 1%
15%20 50 1%
16%X19 50 1%
18x21 50 1%
18%x22 50 1%
19x23 50 1%
19%x24 50 1%
19%x25 50 1%
22X26 50 1%
25X 29 50 1%
25x30 50 1%
25X 31 50 1%
30%36 50 1%
32x37 50 1%
32x38 50 1%
38x43 50 1%
38x44 50 1%
37x45 50 1%
45%x52 50 1%
50x58 30 1%
63%x73 30 1%
75x86 30 1%

Y14 X

EXHEFE

4X9 100

6X11 100 1%
8%x135 100 1%
9x15 100 1%
10%X16 100 1%
12%x18 100 1%
15%22 100 1%
19X 26 50 1%
25x33 50 1%
32x41 50 1%
38x%x48 50 1%
50%x62 40 1%
63%x80 20 1%
75X 92 20 1%
90x%x108 10 1%
100%x118 10 1%

25 26X29 1%&
32 33X%X36.2 1%
40 40x42.7 1%
50 52x54.8 1%
65 65%X68.4 1%&
75 77x80.6 1%&
100 103%x107 1%
125 128%x132 1%&
150 153%X157 1%&
200 207%x211.8 1%&
250 257X262.4 1%
300 308%x313.4 1%&
350 359X 364.6 1%
400 410X415.8 1%&
FR m 100m

sEME

136




r:uum% "|,

S0
N\

B4 X REX R
15 15%X20 50

| BR®SRUT—Z0

YA X TOF HE F—A AE
1/2X12 14 12
1/2X15 16 15
3/4X19 21 19
1x25 27 25
[ FU=RI5YT A-NRFY 1)
ann
>
s
ﬁ P8 fEAFEE (mm) A
4 5.6~16
6 11~20
8 13~23
10 14~27
12 17~32
16 21~38
20 21~44
24 27~51
28 33~57
32 40~64
36 46~70
40 52~76
44 59~83
48 65~89
52 71~95
56 78~102
60 84~108
64 91~114
72 48~127
80 64~140
88 79~152
96 92~165
104 108~178
128 143~216
152 181~254
188 238~311

137

| RIRDAP—IKVK (RF—1)

TiEE ——
o
7 \me

#EL 7 2Nm

TSARS AN~
e 2T

BARE | RmIME| BX
EENE RS

e
—

3

-

P-TWB% 1~

P-TWB-16 M5 X% 25
P-TWB-18 18 15 1.6 M5 %X 25
P-TWB-22 22 18 1.8 M5 X 30
P-TWB-25 25 21 1.8 M5 X 30
P-TWB-33 33 28 2 M6 X 38
P-TWB-38 38 33 2 M6 X 38
P-TWB-48 48 43 2.3 M6 X 38
P-TWB-58 58 52 2.3 M6 X 48
P-TWB-67 67 61 2.3 M6 X 48
P-TWB-78 78 72 2.3 M6 X 48

B RIRSAN— QNI THDNIDTATDID. SNLITD
MHRIDNTEXY,
A & IBEE0—RR—REERMDHIT/INVE,

# B ZAF—)IL (=fioOX—MMEED)

BEE 4B

| ABAZSYT (RF—IL)

AR
#15 8~15
#17 11~18
#22 13~22
15-24 15~25
19-28 19~29
22-32 22~33
26-38 26~39
32-44 32~45
38-50 38~51
44-56 44~57
50-65 50~66
58-75 58~76
68-85 68~86
77-95 77~96
87-112 87~113
104-138 104~139
130-165 130~166
150-180 150~181
175-205 175~206
200-231 200~232
226-256 226~257
251-282 251~283
277-307 277~308




14X

-E-_

I S =
g A H

EHA. MR

100 AB-100 AB-100W 100 100
150 AB-150 AB-150W 1 .0 36 152 3.5 1 .2 1 35 100
200 AB-200 AB-200W 1.5 50 202 4.6 1.2 225 100
250 AB-250 AB-250W 1.5 65 251 4.8 1.5 270 100
300 AB-300 AB-300W 1.5 80 301 4.8 1.5 270 100
350 AB-350 AB-350W 3.0 100 380 7.6 1.8 535 50
380 AB-380 AB-380W 25 105 383 4.8 1.5 225 100
450 AB-450 AB-450W 15.0 130 460 7.6 1.8 535 50
550 AB-550 AB-550W 4.0 145 541 13 2 1115 25
800 AB-800 AB-800W 8.0 245 820 8.8 1.9 780 25
B OE BRERE HERAREER t % B
BT-200 ¢20~ ¢ 50 6.35X9.52 ({R:EE8mm) 200 50 10 25 401 97
BT-250 ¢ 30~ ¢ 66 9.52%15.88 (fR:BE8x10mm) 250 80 10 25 401" 99
BT-300 ¢33~ ¢82 12.70X28.58 (fR:EHE10mm) 300 90 10 2.5 401 7
BT-350 ¢ 40~ ¢ 98 19.05X38.10 (£R:EE10mm) 350 100 10 2.5 401" v
BT-400 $48~¢p114 19.05%x38.10 (£R:E8E10X20mm) 400 150 11.6 3.3 401 97
BT-450 ¢54~ ¢ 130 22.22X44.45 ({7EE10X20mm) 450 170 11.6 3.3 401 97

sEME

138



B ETFEE

139

' e b 1% FTOETY

A % B = fifs =
X pZ b 25kg M MEDREEIE #1325
. = XL NENBDPFHREE STV D,
AR RS 25kg KB B,
n ® 20L L=
1] 6’3 _m3 IBHRUH, NI EEXEr b,
@ F 20L et ALMIREDHF,
) ¥ a1 TORBF, REEWNF - AESF -
B g # 20kg EEBAMBEES.
7 a 20L 4ERE - 40-0: 7
— BRI IE B,
NLTENVHER 25kg ftb X—/¥—20 (0-4mm3EEV)) |
Z2—7%—30 (5-10mnEZ V) H'),
5 . WHWIER, BRI HSEZENETINIDTIRIAE
NSt€to3» #35 25kg 32, (0-15m) .
. . EBIRIVRIEHH, B RIEBH=3—-L I
G L K ¥ F 20kg Kbk K
¥ ¥ ¥ M C 10kg ALCER#1E#H,
¥ > 7 2 =0 25kg A3 B+
U455 RS (—#H) 25kg EIVIBEIL 2o VU EINRELE, (BRF)
U537 MRP(/Sv MA) 25kg H|IVFEEIL 2L, OV EINBHLE, (B2FE)
t L &2 v v 8.5kg + 17kg ZEWBHKM. ik (M) +# (B4)
NZ F v U R #&18kg - ¥312kg ZEBhKM. ik (M) +# (B4)

v/ — LB KE

1.8kg - 4.5kg * 18kg

BILRIVISRE BBhKHM,

v/ =LA A

1.8kg - 4.5kg * 18kg

3> 7)—reR<LED B,

NSNALT7LY IR 1kg - 4kg - 18kg EILZIVAREEES,
(C I = L2 Y 20kg (5kgx4) BEBEMEEAT b,
A=N=I1y bEXAV B 20kg BEBEtEA K,
L 27 7 1 b 30kg HEDT XTIV R,
Yo — bR 60H 200[ ], 300[1, 360x450, 360x600.

450%x600

R L]

300H (¥#4=150H)

24001, 300[1, 360[1. 45001, 600[]

9
4
£ a %
E
g2

T4 —Xxv>a

5X100P % &,

20kg BEOREEEESI<,
> = O 150[J%120. 150[Jx150. 180[1x150.
100X120%X200. 200[1%200
g J0v 7 1?8%%138%90 @ | BREBRELE—bEALTY-RTAY Y,
(PADZ s lv Al = IR 100X 200 X 60H
2.6%100P

Y1 XHHYET,

oA —-—N—=-2

130%100 (130) x120H
150%130 (150) X 100H

EEXHRAIOv Y

A4 8707

150L. 200L. 300L.
400L. 500L. 600L%F

1 XbHNET,




